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Vit O R LEE T P — e

B S K AL FWL 69.1|(m)

LS EL 56.8|(m)

T=8hith K% : H=FWL-EL 12.3|(m)

BETKE:V 34,900{(m3)

RAFH E(Costa): Qp|  227.84|(m3/s)  |Qp=325(H-V)**

FUSEE:A 0.2993|km2

WKEE: A2 0.0043[km2

r=a/(t"+b)

HAREEART =%l

EREER N 0.848

EREER 10953.08

ERRERD 48.8
R-2Tri-r2h0n'E

PR E B ERF At 41|%> HIZIENBESEYER
LAA
FK-2Dr1-r2M{EM0

REEERF:tc 41|49 LB EEHRER
HUIVIET

B ERBAOMEREE r 151.9((mm/h)

HAKFEE—Y:Q 10.1{(m3/s)  [1/3.6+f-r*A

itk E:.2Q 12.12{(m3/s)

EMSF Eith, TSR R

1:5,000

EMF LR

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 227.84 10.1 237.9
1 154.00 10.0 164.0
2 104.09 9.9 114.0
3 70.35 9.8 80.2
4 4755 9.7 573
5 32.14 9.6 41.7
6 21.72 95 31.2
7 14.68 94 241
8 9.92 9.3 19.2
9 6.71 9.2 15.9
10 453 9.1 13.6
1 3.06 9.0 121
12 2.07 8.9 11.0
13 1.40 8.8 10.2
14 0.95 8.7 9.7
15 0.64 8.6 9.2
16 0.43 8.5 8.9
17 0.29 8.4 8.7
18 0.20 8.3 8.5
19 0.13 8.2 8.3
20 0.09 8.1 8.2
21 0.06 8.0 8.1
22 0.04 7.9 7.9
23 0.03 7.8 7.8
24 0.02 1.7 1.7
25 0.01 7.6 7.6
26 0.01 15 15
/__,;'n,\ # 7‘ A‘l
& "DH\/ HE
<elB2
o|| 8|8
& il
=3 PR
o|R|a | of )
Q| |ElR
® S
# o )
<Ll<|L2|y
B+ S| =)+
ﬁ NN
[ o
o-l=| |E|g
g o
B
| = EEES
- ﬁ SR

(C) El LR SIP4 (C) CORE CORP. (C) =HIiH4E

R-1 REREIETRISFIEERC

R-2 HOKEERE

LHiodRiE | C | ERE(km2) i &
pat:o¥iich 70 0.0043 s EHEEH 7o A ) P33
(Lot 290 | 0.2950
7KH 100
Hkh 200
FEHh 70
L 0.2993

faf ES-25) 287

THEOIRAE f THIFE T
Pat;akiii! 1.00 | 0.0043 A FHEEH 720 M | P33
(L 0.80 | 0.2950
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
L 0.2993

faf ESF-25) 0.80

rEETT-1

mrEomEnt] AWAE |AuRmmE]  |MkEEsn i
t(4) r{(mm/h) re=f+r,(mm/h) re te(min) 2 n
1 41.0 151.9 121.52 0.186 40.94 151.9 0.0
2 41.1 151.8 121.44 0.186 40.94 151.9 -0.1
3 41.2 151.7 121.36 0.186 40.94 151.9 -0.2
4 41.3 151.6 121.28 0.186 40.94 151.9 -0.3
5 414 1515 121.20 0.187 41.16 151.7 -0.2
6 415 1514 121.12 0.187 41.16 151.7 -0.3
7 41.6 151.3 121.04 0.187 41.16 151.7 -0.4
8 41.7 151.2 120.96 0.187 41.16 151.7 -0.5
9 41.8 151.1 120.88 0.187 41.16 151.7 -0.6
10 419 151.0 120.80 0.187 41.16 151.7 -0.7
11 42.0 150.9 120.72 0.187 41.16 151.7 -0.8
=-3 BKRE BIAEHE
t r In Q
" mim (mm/h) nr (mm/h) | (m3/s)
1 41.0 151.9 151.9 151.9 10.1
2 82.0 120.7 2414 89.5 6.0
3 123.0 1014 304.2 62.8 42
4 164.0 88.1 3524 48.2 3.2
5 205.0 78.2 391.0 38.6 2.6
6 246.0 70.5 423.0 32.0 2.1
7 287.0 64.3 450.1 271 1.8







=& KA -3

W B R KL FWL 50.7|(m)

LS EL 46.2|(m)

=8 IKi%E : H=FWL-EL 4.5((m)

WETKE:V 23,800({(m3)

KTt = (Costa): Qp 127.17|(m3/s)  [Qp=325(H-V)**

JRigmiE:A 0.1300{km?2

/K ETE: A2 0.0044|km2

r=a/(t"+b)

1 F R = £181Fr =3

ErRsEE KN 0.848

ErREE R 10953.08

ErsEERX b 488
F-2Tri-r2hoh &

AR E B BF et 31|19 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 31| L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 163|(mm/h)

HKFEE—Y:Q 46|(m3/s) |1/36+fr-A

REHEKGREN.2Q 5.52|(m3/s)

B | REAE | AKRE DENSAE
(min) | Q1(m3/s)[ Q2(m3/s)| Q1+Q2(m3/s)
o 12717 46 1318
1 92.29 4.5 96.8
2 66.98 45 715
3 48.61 44 53.0
4 35.27 44 39.7
5 25.60 43 299
6 18.58 43 229
7 13.48 42 17.7
8 9.78 42 13.9
9 7.10 4.1 11.2
10 5.15 4.1 9.2
11 3.74 40 1.7
12 2.71 3.9 6.7
13 1.97 3.9 59
14 1.43 3.8 5.3
15 1.04 3.8 48
16 0.75 3.7 45
17 0.55 3.7 42
18 0.40 3.6 40
19 0.29 3.6 3.8
20 0.21 3.5 3.7
21 0.15 34 3.6
22 0.11 34 35
23 0.08 3.3 34
24 0.06 3.3 3.3
25 0.04 3.2 3.3
26 0.03 3.2 3.2
27 0.02 3.1 3.1
28 0.02 3.1 3.1
29 0.01 3.0 3.0
30 0.01 3.0 3.0

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

THiDHRRE C | HifEkm2) s &
pat:o¥iich 70 0.0055 A EHEE 7o 60 M fi ) P33
(Lot 290 | 0.1098
7KH 100
Hkh 200 | 0.0147
E 70
‘it 0.1300
Taf I 271
IR RE f i i &
Pat;akiii! 1.00 | 0.0055 A FHEEH 720 M | P33
(L 0.80 | 0.1098
KH 0.75 | 0.0000
Bk 0.53 | 0.0147
£ 0.85 | 0.0000
‘it 0.1300
Taf I 0.78

A [E -3

Frongnn] BWAE |AURTEE | MKEERE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 31.0 163.0 127.14 0.183 31.66 162.2 0.8
2 31.1 162.9 127.06 0.183 31.66 162.2 0.7
3 31.2 162.8 126.98 0.184 31.83 162 0.8
4 31.3 162.6 126.83 0.184 31.83 162 0.6
5 314 162.5 126.75 0.184 31.83 162 0.5
6 315 162.4 126.67 0.184 31.83 162 04
7 31.6 162.3 126.59 0.184 31.83 162 0.3
8 31.7 162.2 126.52 0.184 31.83 162 0.2
9 31.8 162.0 126.36 0.184 31.83 162 0.0
10 31.9 161.9 126.28 0.184 31.83 162 -0.1
11 32.0 161.8 126.20 0.184 31.83 162 -0.2
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 31.0 163 163.0 163.0 46
2 62.0 133.7 267.4 104.4 29
3 93.0 114.7 3441 76.7 2.2
4 124.0 101 404.0 59.9 1.7
5 155.0 90.7 453.5 49.5 1.4
6 186.0 82.4 494.4 40.9 1.2
7 217.0 75.8 530.6 36.2 1.0
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=& %t E&E

W B R KL FWL 42.5((m)

LS EL 34.8[(m)

=8 IKi%E : H=FWL-EL 7.7|(m)

WETKE:V 26,000{(m3)

KTt = (Costa): Qp 165.39|(m3/s)  [Qp=325(H-V)**

JRigmiE:A 0.0986 |km2

/K ETE: A2 0.0042|km2

r=a/(t"+b)

1 ARE AR =3

ErRsEE KN 0.848

ErREE R 10953.08

ErsEERX b 488
R-2Tr1-r2Hoh xR

AR E B BF et 29|19 IR B ESEBYR
LAA
F-2Mr1-r2M{EH0

REBERFM to 29|15 BRI ERRE R
HUVIET

B ZERBRNOBREE: v 165.5|/(mm/h)

HKFEE—Y:Q 3.6|(m3/s) |1/3.6-fr-A

REHEKGREN.2Q 4.32|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
165.39 3.6 169.0
112.92 3.6 116.5
77.09 3.5 80.6
52.63 3.5 56.1
35.93 34 394
2453 34 279
16.75 3.3 201
11.43 3.3 14.7
7.81 3.2 11.1
533 3.2 85
3.64 3.2 6.8
248 3.1 5.6
1.70 3.1 48
1.16 3.0 42
0.79 3.0 3.8
0.54 2.9 35
0.37 2.9 3.3
0.25 2.8 3.1
0.17 2.8 3.0
0.12 2.7 29
0.08 2.7 2.8
0.05 2.7 2.7
0.04 2.6 2.7
0.03 2.6 2.6
0.02 2.5 25
0.01 2.5 25
0.01 24 24

£

1

8.423

0.8 6.738

0.433 0.75 0.325
0.451 0.53 0.239
0.134 0.85 0.114

9.857

TREEH

i

BEAFRH

0.79

I

g

R-1 REREIETRISFIEERC

F&-2 HOKEERR]

THOIRTE C | mifkm2) H &
pat:o¥iich 70 0.0042 A EHEE 7o 60 M fi ) P33
(Lot 290 | 0.0842
KH 100 | 0.0043
Hkh 200 | 0.0045
£ 70 0.0013
‘it 0.0986

faf ES-25) 265

T HOIRRE f i i &
Pat;akiii! 1.00 | 0.0042 A FHEEH 720 M | P33
(L 0.80 | 0.0842
KH 0.75 | 0.0043
Bk 0.53 | 0.0045
£ 0.85 | 0.0013
‘it 0.0986

faf ESF-25) 0.79

A [E -5

Frongnn] BWAE |AURTEE | MKEERE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 29.0 165.5 130.75 0.182 28.97 165.5 0.0
2 29.1 165.4 130.67 0.182 28.97 165.5 -0.1
3 29.2 165.2 130.51 0.182 28.97 165.5 -0.3
4 29.3 165.1 130.43 0.182 28.97 165.5 -04
5 294 165.0 130.35 0.182 28.97 165.5 -0.5
6 29.5 164.9 130.27 0.182 28.97 165.5 -0.6
7 29.6 164.7 130.11 0.182 28.97 165.5 -0.8
8 29.7 164.6 130.03 0.182 28.97 165.5 -0.9
9 29.8 164.5 129.96 0.182 28.97 165.5 -1.0
10 29.9 164.4 129.88 0.182 28.97 165.5 -1.1
11 30.0 164.2 129.72 0.182 28.97 165.5 -1.3
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 29.0 165.5 165.5 165.5 3.6
2 58.0 136.8 273.6 108.1 2.3
3 87.0 117.9 353.7 80.1 1.7
4 116.0 104.2 416.8 63.1 1.4
5 145.0 93.7 468.5 51.7 1.1
6 174.0 85.4 512.4 43.9 0.9
7 203.0 78.6 550.2 37.8 0.8
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=2 B Fith wE

B B K L : FWL 38.7|(m)

LS EL 33.3|(m)

1=t 7K % - H=FWL-EL 5.4{(m)

WETKE:V 15,000{(m3)

At 2(Costa): Qp 113.1{(m3/s)  |Qp=325(H-V)**

REEE:A 1.1640|km2

FOKETE:A2 0.0030{km?2

r=a/(t"+b)

AR =R =40

R E NN 0.848

EREEN:a 10953.08

s E Db 48.8
F-2Tr1-r2honE

PR E | E Rt 57|% B2 B ES#YR
LAA
F-2Dr1-r2D{EH0

REFERRM :tc 57|% LD EER R E
HUVIET

I ERRNDMERETRE v 137.5|(mm/h)

HAKREE—Y:Q 35.6|(m3/s) |1/3.6-f-r-A

EREHAKIRE1.2Q 42.72((m3/s)

S/

PO A [
NHINAY RS

IR
{7
A

/
o

Y

¥

AR YA

Bl | RIRRE | HKRE | LEXRRE
(min) | Q1(m3/s)| Q2(m3/s)| Q1+Q2(m3/s)
0 113.10 35.6 148.7
1 71.94 35.3 107.2
2 45.76 35.0 80.8
3 29.11 34.7 63.8
4 18.52 344 52.9
5 11.78 341 459
6 7.49 33.8 413
7 4.77 335 38.3
8 3.03 33.2 36.3
9 1.93 329 349
10 1.23 32.7 33.9
11 0.78 324 331
12 0.50 32.1 32.6
13 0.32 318 321
14 0.20 315 31.7
15 0.13 31.2 313
16 0.08 30.9 310
17 0.05 30.6 30.6
18 0.03 30.3 30.3
19 0.02 30.0 30.0
20 0.01 29.7 29.7

U{/r_/\
[y

— ":%\:f" Sy
=) b

T
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A

PR

F

AN

T

| (€ IC\—':/

L6k
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[

-

\ A L
IR e
7 7

R -
gy
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e E -8

x-1 RHEFRBIEREEEESRC
IR AE C | mfE(km2) i *&
Jat;akii! 70 0.0030 XA 72 i ) P33
(it 290 | 1.1610
K H 100
Bt 200
FEHh 70
A 1.1640
fif -2 289
R HE f s i &
7t 1.00 | 0.0030 AR FHESH 7200 M # 1 P33
L1t 0.80 | 1.1610
K H 0.75 | 0.0000
B 0.53 | 0.0000
Eh 0.85 | 0.0000
At 1.1640
i E 0.80
-2 HOKEIERME
REOHZNME ARNEE |AYMEREE ogs | PUKELEER _
(4 ry(mm/h) re=f+r,(mm/h) re te(min) 2 n
1 57.0 137.5 110.00 0.193 57.67 137 0.5
2 571 1375 110.00 0.193 57.67 137 0.5
3 57.2 137.4 109.92 0.193 57.67 137 04
g //ﬁ 4 573 1373 109.84 0.193 57.67 137 0.3
oy 5 574 137.2 109.76 0.193 57.67 137 0.2
6 575 137.2 109.76 0.193 57.67 137 0.2
7 57.6 137.1 109.68 0.193 57.67 137 0.1
8 57.7 137.0 109.60 0.193 57.67 137 0.0
9 57.8 136.9 109.52 0.193 57.67 137 -0.1
10 579 136.8 109.44 0.193 57.67 137 -0.2
11 58.0 136.8 109.44 0.193 57.67 137 -0.2
=R-3 HKRE-AEPE
t r In Q
; (min) (mm/h) nr (mm/h) (m3/s)
1 57.0 1375 1375 1375 35.6
2 114.0 105 210.0 725 18.8
3 171.0 86.2 258.6 48.6 12.6
4 2280 73.7 2948 36.2 94
5 285.0 64.6 323.0 28.2 73
6 3420 57.7 346.2 232 6.0
7 399.0 523 366.1 19.9 5.1
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B [RERE|HEKRE|LEMNRRE
=8Ot & TR #it T (@i = (min) | Q1(m3/s)[Q2(m3/s)] Q1+Q2(m3/s)
B B KL FWL 47.3|(m) 0 97.48 5.0 1025
LS EL 42.6((m) 1 60.12 4.9 65.1
f=shith 7K %R - H=FWL-EL 4.7|(m) 2 37.07 4.9 420
RETKE:V 12,100{(m3) 3 22.86 4.8 27.7
A E(Costa): Qp 97.48((m3/s)  |Qp=325(H-V)** 4 14.10 48 18.9
TISEHE:A 0.1400|km2 5 8.70 4.7 134
WKERE: A2 0.0010|km2 6 5.36 4.7 10.0
r=a/(t"+b) 7 3.31 46 7.9
HAREEAR =% 8 2.04 46 6.6
FERRER N 0.848 9 1.26 45 5.8
R ERa 10953.08 10 0.78 44 5.2
FERsREXDb 48.8 11 0.48 44 49
MR B 34|43 N 12| 029] 49 46

LAS 13 0.18 43 45

REENZERE to 34|15 f&%@?&%ﬁ%@o 1 il 42 43
HEVIET 15 0.07 4.2 4.2

B ER R R DR FRIRE ¢ 159.5|(mm/h) 16 0.04 4.1 4.1
HAKREE—Y:Q 5.0|(m3/s) [1/3.6-fr-A 17 0.03 41 4.1
itk E:.2Q 6|(m3/s) 18 0.02 40 4.0
19 0.01 3.9 3.9

20 0.01 3.9 3.9

a2 .

R T

iEiA=0. 140

1L1#A=0. 139km2

A i

#A=0.

001km2

50 100 150m

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

THiDHRRE C | HifEkm2) s &
pat:o¥iich 70 0.0010 A EHEE 7o 60 M fi ) P33
(Lot 290 | 0.1390
7KH 100
M 200
E 70
‘it 0.1400
Taf I 288
IR RE f i i &
Pat;akiii! 1.00 | 0.0010 A FHEEH 720 M | P33
(L 0.80 [ 0.1390
KH 0.75 [ 0.0000
Bk 0.53 | 0.0000
£ 0.85 [ 0.0000
‘it 0.1400
Taf I 0.80

A [EH-10

Frongnn] BWAE |AURTEE | MKEERE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 34.0 159.5 127.60 0.183 34.2 159.2 0.3
2 34.1 159.3 127.44 0.183 34.2 159.2 0.1
3 34.2 159.2 127.36 0.183 34.2 159.2 0.0
4 34.3 159.1 127.28 0.183 34.2 159.2 -0.1
5 344 159.0 127.20 0.183 34.2 159.2 -0.2
6 345 158.9 127.12 0.183 34.2 159.2 -0.3
7 34.6 158.8 127.04 0.183 34.2 159.2 -04
8 34.7 158.6 126.88 0.184 34.38 159 -04
9 34.8 158.5 126.80 0.184 34.38 159 -0.5
10 34.9 158.4 126.72 0.184 34.38 159 -0.6
11 35.0 158.3 126.64 0.184 34.38 159 -0.7
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 34.0 159.5 159.5 159.5 5.0
2 68.0 129.5 259.0 99.5 3.1
3 102.0 110.3 330.9 71.9 2.2
4 136.0 96.7 386.8 55.9 1.7
5 170.0 86.5 432.5 45.7 1.4
6 204.0 78.4 4704 37.9 1.2
7 238.0 71.9 503.3 32.9 1.0
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x-1 RHGEHERESEMEESRC
IR RE C | mffikm2) i &
pat:o¥iich 70 0.0014 RRFHESH -0 M E i 1 P33
(L 290 | 0.0086
7KH 100
Bk 200
EHh 70
‘it 0.0100
[ i) 259
+ IR E f [iaEi i &
Pat;akii! 1.00 | 0.0014 R FHE R 7200 B G P33
(Lot 0.80 | 0.0086
KH 0.75 | 0.0000
Akt 0.53 | 0.0000
£ 0.85 | 0.0000
&t 0.0100
faf B 0.83

1=6Hth B Ff Fiith b (ki) e

B B K L : FWL 54.5[(m)

s EL 47.8|(m)

1=t 7K % - H=FWL-EL 6.7{(m)

ETKkE:V 8,920|(m3)

xR E(Costa): Qp 99.54((m3/s)  |Qp=325(H-V)**

REEE:A 0.0100{km?2

FEKETE:A2 0.0014[km2

r=a/(t"+b)

AR =R =30

R E NN 0.848

EREEN:a 10953.08

s E Db 48.8
F-2Tr1-r2honE

PR E | E Rt 16(% RIS ES5#YIR
LAA
F-2Dr1-r2D{EH0

REFERRM :tc 16(% LD EER R E
HUVIET

B ZERBRNOBREE: r 184.7|(mm/h)

HAKREE—Y:Q 0.4|(m3/s) [1/3.6+-f-r-A

EREHAKIRE1.2Q 0.48[{(m3/s)

T

F-2 HOKE|ERFR

Bfdl | RIRREZ | HKRE | LERRRE
(min) | Q1(m3/s)| Q2(m3/s)| Q1+Q2(m3/s)
0 99.54 04 99.9
1 50.96 04 51.4
2 26.09 04 26.5
3 13.36 04 13.7
4 6.84 04 7.2
5 3.50 04 3.9
6 1.79 04 22
7 0.92 0.4 1.3
8 0.47 04 0.8
9 0.24 0.3 0.6
10 0.12 0.3 0.5
11 0.06 0.3 0.4
12 0.03 0.3 04
13 0.02 0.3 0.3
14 0.01 0.3 0.3
15 0.00 0.3 0.3
16 0.00 0.3 0.3
17 0.00 0.3 0.3
18 0.00 0.3 0.3
19 0.00 0.3 0.3
20 0.00 0.3 0.3

REOHZNME ARNEE |AYMEREE ogs | PUKELEER _
(5 ry(mm/h) re=f+r,(mm/h) re te(min) 2 n
1 16.0 184.7 153.30 0.172 16.17 1844 0.3
2 16.1 184.5 153.14 0.172 16.17 184.4 0.1
3 16.2 1844 153.05 0.172 16.17 1844 0.0
4 16.3 184.2 152.89 0.172 16.17 184.4 -0.2
5 16.4 184.0 152.72 0.172 16.17 1844 -0.4
6 16.5 183.9 152.64 0.172 16.17 184.4 -05
7 16.6 183.7 152.47 0.172 16.17 1844 -0.7
8 16.7 183.5 152.31 0.172 16.17 184.4 -0.9
9 16.8 183.3 152.14 0.172 16.17 1844 -1.1
10 16.9 183.2 152.06 0.172 16.17 184.4 -1.2
11 17.0 183.0 151.89 0.172 16.17 1844 -1.4
=R-3 HKRE-AEPE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 16.0 184.7 184.7 184.7 04
2 320 161.8 323.6 138.9 0.3
3 48.0 145.2 435.6 112.0 0.3
4 64.0 132.3 529.2 93.6 0.2
5 80.0 121.8 609.0 79.8 0.2
6 96.0 113.2 679.2 70.2 0.2
7 112.0 105.9 7413 62.1 0.1
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x-1 RHGEHERESEMEESRC
IR RE C | mffikm2) i &
pat:o¥iich 70 0.0063 RRFHESH -0 M E i 1 P33
(L 290 | 0.3767
7KH 100
Bk 200
EHh 70
‘it 0.3830
[ i) 286
+ IR E f [iaEi i &
Pat;akii! 1.00 | 0.0063 R FHE R 7200 B G P33
(Lot 0.80 | 0.3767
KH 0.75 | 0.0000
Akt 0.53 | 0.0000
£ 0.85 | 0.0000
&t 0.3830
faf B 0.80

T:&)iﬁl,% ﬁ]’\ EHE T (EBEM®) ﬁ%:%

B B K L : FWL 30.5/(m)

LS EL 24.3|(m)

1=t 7K % - H=FWL-EL 6.2[(m)

ETKkE:V 8,750{(m3)

B A 8 (Costa): Qp 95.57|(m3/s)  |Qp=325(H-V)’*?

REEE:A 0.3830[km?2

FEKETE:A2 0.0040[km?2

r=a/(t"+b)

AR =R =40

R E NN 0.848

EREEN:a 10953.08

s E Db 48.8
FT-2Tr1-r2Hh0A K

PR E | E Rt 43| FIZHENDKSHEYIR
LAA
F=-2Dr1-r2M{EH0

REEERM tc 43| EH DR ERFREE 2
HUVIET

B ZERBRNOBREE: r 149.9|(mm/h)

HAKREE—Y:Q 12.8|/(m3/s)  [1/3.6-f-r-A

EREHAKIRE1.2Q 15.36((m3/s)

EMF L, TiEHIRE

S

NN

(C) ElLth#fz SIP4 (C) CORE CO

F-2 HOKE|ERFR

Bfdl | RIRREZ | HKRE | LERRRE
(min) | Q1(m3/s)| Q2(m3/s)| Q1+Q2(m3/s)
0 95.57 12.8 98.3
1 49.63 12.7 52.3
2 25.77 125 28.4
3 13.38 124 16.0
4 6.95 12.3 95
5 3.61 12.2 6.2
6 1.87 12.0 44
7 0.97 11.9 35
8 0.51 11.8 3.0
9 0.26 11.7 2.7
10 0.14 115 2.6
11 0.07 114 25
12 0.04 11.3 24
13 0.02 11.2 24
14 0.01 11.0 24
15 0.01 10.9 2.3
16 0.00 10.8 2.3
17 0.00 10.7 2.3
18 0.00 10.5 22
19 0.00 104 2.2
20 0.00 10.3 22

NHKREF LRDOEMRF LBOHKEREELSIVTEY

RP. (C) REHHstE

REOHZNME ARNEE |AYMEREE ogs | PUKELEER _
(4 ry(mm/h) re=f+r,(mm/h) re te(min) 2 n
1 43.0 149.9 119.92 0.187 433 149.6 0.3
2 431 149.8 119.84 0.187 43.3 149.6 0.2
3 43.2 149.7 119.76 0.187 433 149.6 0.1
4 433 149.6 119.68 0.187 43.3 149.6 0.0
5 434 149.5 119.60 0.187 433 149.6 -0.1
6 43.5 149.4 119.52 0.187 43.3 149.6 -0.2
7 43.6 149.3 119.44 0.187 433 149.6 -0.3
8 43.7 149.2 119.36 0.188 43.53 149.4 -0.2
9 438 149.1 119.28 0.188 43.53 1494 -0.3
10 43.9 149.0 119.20 0.188 43.53 149.4 -04
11 440 148.9 119.12 0.188 43.53 1494 -0.5
=R-3 HKRE-AEPE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 43.0 149.9 149.9 149.9 12.8
2 86.0 1184 236.8 86.9 74
3 129.0 99.2 297.6 60.8 52
4 172.0 85.9 343.6 46.0 39
5 2150 76.1 380.5 36.9 3.1
6 258.0 68.6 411.6 31.1 26
7 301.0 62.5 4375 25.9 22
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=t a Lyl B=E

B /KL FWL - |m)

HlS EL = (m)

f=8ith /K - H=FWL-EL 5.7|(m) BE ks

HEPKE:V 8,250((m3)

RAFiH E(Costa): Qp 90|(m3/s)  |Qp=325(H-V)**

TEEE:A 0.1940 [km2

HIKETE: A2 0.0015|km2

r=a/(t"+b)

HAREEART =%l

EREE RN 0.848

EREERa 10953.08

BEREERD 48.8
R-2Tr1-r2Hh0N %K

PR E B ERF At 37|% BN D ESRYIR
LAA
FR-2Dr1-r2MAEH0

REFERR tc 37| EIE DR ERREEE
HUIVIET

B ERBAOMEREE r 156.1|(mm/h)

HAKFEE—Y:Q 6.7[(m3/s) [1/3.6-fr-A

RETHEKIREN 20 8.04|(m3/s)

= MKRIEEEFEHILTORE-HKEFITERE

7

F-1 RHEGRBIERE RS ERC

THiDHRRE C | HifEkm2) s &
pat:o¥iich 70 0.0015 A EHEE 7o 60 M fi ) P33
(Lot 290 | 0.1925
7KH 100
M 200
E 70
‘it 0.1940
Taf I 288
IR RE f i i &
Pat;akiii! 1.00 | 0.0015 A FHEEH 720 M | P33
(L 0.80 [ 0.1925
KH 0.75 [ 0.0000
Bk 0.53 | 0.0000
£ 0.85 [ 0.0000
‘it 0.1940
Taf I 0.80

F&-2 HOKEERR]

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 90.00 6.7 96.7
1 46.77 6.6 53.4
2 2431 6.6 30.9
3 12.63 6.5 191
4 6.56 6.4 13.0
5 3.41 6.3 9.8
6 1.77 6.3 8.0
7 0.92 6.2 71
8 0.48 6.1 6.6
9 0.25 6.1 6.3
10 0.13 6.0 6.1
11 0.07 59 6.0
12 0.03 59 59
13 0.02 58 5.8
14 0.01 57 5.7
15 0.00 5.6 5.6
16 0.00 5.6 5.6
17 0.00 55 5.5
18 0.00 54 54
19 0.00 54 54
20 0.00 53 5.3

< ‘ ""A
(C) El L xR SIP4 (C) CORE COR

P. (C) RUiH1E

Frongnn] BWAE |AURTEE | MKEERE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 37.0 156.1 124.88 0.185 37.14 155.9 0.2
2 37.1 156.0 124.80 0.185 37.14 155.9 0.1
3 37.2 155.9 124.72 0.185 37.14 155.9 0.0
4 37.3 155.8 124.64 0.185 37.14 155.9 -0.1
5 374 155.7 124.56 0.185 37.14 155.9 -0.2
6 37.5 155.5 124.40 0.185 37.14 155.9 -04
7 37.6 155.4 124.32 0.185 37.14 155.9 -0.5
8 37.7 155.3 124.24 0.185 37.14 155.9 -0.6
9 37.8 155.2 124.16 0.185 37.14 155.9 -0.7
10 37.9 155.1 124.08 0.185 37.14 155.9 -0.8
11 38.0 155.0 124.00 0.185 37.14 155.9 -0.9
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 37.0 156.1 156.1 156.1 6.7
2 74.0 125.5 251.0 94.9 41
3 111.0 106.3 318.9 67.9 29
4 148.0 92.8 371.2 52.3 2.3
5 185.0 82.7 413.5 42.3 1.8
6 2220 74.8 448.8 35.3 1.5
7 259.0 68.4 478.8 30.0 1.3
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